
GURU NANAK COLLEGE , DHANBAD  

MID SEMESTER INTERNAL EXAMINATION  

   SEM – VI(AGRICULTURE ECONOMICS) 

SUB  : Economics  (general )                                       TIME:45MIN 

 

CHOOSE THE CORRECT ANSWER  OF THE FOLLOWING: 

 

1.Which sector is the backbone of Indian economy? 

कौन के्षत्रक भारतीय अर्थव्यवस्र्ा की रीढ़ है। 

1) Service Sector  

     संस्र्ा के्षत्रक     

2) Financial Sector  

     ववत्त के्षत्रक 

3) Tourism Sector  
  पयथटन के्षत्रक 

4) Agriculture Sector  
  कृवि के्षत्रक 
2) Regulating body of rural Finance in India 

भारत में ग्रामीण ववत्त की ववननयमन ननकाय 

1) RBI 
भारतीय ररजवथ बैंक 

2) NABARD  
नाबार्थ  

3) RRB  
क्षेत्रीय ग्रामीण बैंक  

4) Cooperative bank  
सहकारी बैंक  



3.Full form of APP  

   APP का फुल फॉमथ  

1) Agricultural price policy  
कृवि मूल्य नीनत 

2) agriculture price program 
कृवि मूल्य कायथक्रम 

3) audio price policy 
ऑडर्यो मूल्य नीनत 

4) all of them 
इनमें से  सभी  

4.Consider the following statement and identify the right 

ननम्नललखित कर्न पर ववचार करें और सही की पहचान करें 

1.The APP aims at providing assured price to the farmers.  

एपीपी का उद्देश्य ककसानों को सुननश्श्चत मूल्य प्रदान करना है। 

  ii) It aims at inducing farmers to bring in their surplus produced to the market.  

इसका उद्देश्य ककसानों को बाजार में उत्पाददत उनके अधिशेि में लाने के ललए पे्रररत करना है। 

1) I only 
केवल I 

2) II only 
केवल II 

3) Both 
दोनों 

4) None of these  

इनमें से कोई नहीं 

5.Agricultural marketing refers to the produce produced by farmers 

कृवि ववपणन से आशय कृिकों द्वारा उत्पाददत उपजकी 

1)  order of objects. 



वस्तुओं के क्रम से है। 
2)  sale of goods. 

वस्तुओं के ववक्रय से है। 
3)  Both और 2 

दोनों 1 और 2 है। 
4) NONE OF THEM 

ककसी से भी नहीं है। 

6. Which of the following tasks is not included under agricultural marketing? 

कृवि ववपणन के अन्तर्थत ननम्नललखित में से कौन – सहकायथ सश्म्मललत नहीं है। 

1) Aggregation of agricultural produce. 
कृवि उपजका एकत्री करण। 

2) Division of agricultural commodities. 
कृवि वस्तुओं का ववभाजन। 

3) The study of agricultural commodities. 
कृवि वस्तुओं का ववद्यायन । 

4) neither of the above. 
उपरोक्त में से कोई नहीं। 

7) The first Government Marketing Committee was established in India? 

भारत में प्रर्म सरकारी ववपणन सलमनत की स्र्ापना हुई र्ी? 

1) In 1913 
1913 में 

2) In 1947 
1947 में 

3) In 1951 
1951में 

4) In 1931 
1931 में 

8.Agriculture is not a part of marketing. 

कृवि ववपणन का अंर् नहीं है। 



1) Integrating agricultural produce. 
कृवि उपज को एककतत्र करना। 

2) Certification of agricultural produce. 
कृवि उपज का प्रमाणीकरण। 

3) Use of good quality food by the farmers. 
अच्छी ककस्म के िाद्यान्नों का कृिकों द्वारा उपयोर्। 

4) To bring agricultural produce to the market. 
कृवि उपज को मण्र्ीतक पहंुचाना। 

9.Disguised unemployed in the agricultural sector of India exists due to the 
___________. 

भारत के कृवि क्षेत्र में प्रच्छन्न बेरोजर्ार ___________ के कारण मौजूद हैं 

1) dependence of agriculture on monsoons 
मानसून पर कृवि की ननभथरता 

2) abolition of zamindari 
जमींदार उन्मूलन 

3) heavy pressure of population on land 
भूलम पर जनसंख्या का भारी दबाव 

4) all of them 
उन सभी को 

10.Which type of unemployment is found India? 

भारत में ककस प्रकार की बेरोजर्ारी पाई जाती है?  

1) structural unemployment 
संरचनात्मक बेरोजर्ारी 

2) seasonal unemployment 
मौसमी बेरोजर्ारी 

3) Disguise  unemployment. 
भटकाव बेरोजर्ारी। 

4) All of the above  
उपरोक्त सभी 



 11)What type of unemployment is found in agriculture sector of India? 

    भारत के कृवि क्षेत्र में ककस प्रकार की बेरोजर्ारी पाई जाती है? 

1) Disguised unemployment. 
प्रच्छन्न बेरोजर्ारी। 

2) Voluntary unemployment  
स्वैश्च्छक बेरोजर्ारी 

3) frictional unemployment 
प्रनतरोिात्मक बेरोजर्ारी 

4) None of the above  
उपरोक्त में से कोई नहीं 

12. What is not a one of the major cause of income inequality in India? 

         
        भारत में आय असमानता का एम प्रमुि कारण क्या नहीं है? 

(1)Unequal distribution of land  

     भूलम का असमान ववतरण 

(2) Lack of fertile land 

       उपजाऊ भूलम का अभाव 

(3)Gap between rich and poor  

      अमीर और र्रीब के बीच र्ैप 

 (4) Increase in population. 

        जनसँख्या वदृ्धि 

13. Which of the following is an indicator of poverty in India? 

          

        निम्िलिखित में से कौि भारत में गरीबी का सूचक है? 

(1)Income level   



     आय का स्तर 

(2) Illiteracy level 

       अलशक्षा का स्तर 

(3) Employment level 

       रोजर्ार का स्तर 

(4) All of these. 

       ये सभी। 

14. Which one of these is not a cause of poverty in India? 

      इिमें से कौि भारत में गरीबी का कारण िहीीं है? 

(1)Low level of economic development 

    आधर्थक ववकास का ननम्न स्तर  

(2) Migration of people from rural to urban India 

       ग्रामीण से शहरी भारत में लोर्ों का प्रवास   

(3) Income inequalities 

       आय असमानता 

(4) Unequal distribution of land. 

       भूलम का असमान ववतरण 

15)Who is considered as poor? 

       गरीब ककस ेमािा जाता है? 

(1)Landlords 

    जमींदारों   



(2) Landless labourer 

      भूलमहीन मजदरू    

(3) A rich farmer 

      एक अमीर ककसान 

(4) Businessman. 

       व्यवसायी 

16)When did the Government present Kisan Credit Card Scheme? 

      सरकार िे ककसाि के्रडिट कािड योजिा कब पेश की? 

 

1) April 1853  

  अपै्रल 1853 

2) August 1998 

     अर्स्त 1998 

3) July 1991 

    जुलाई 1991 

4) November 1995 

    नवंबर 1995 

17)When was the new agricultural policy established? 

      िई कृषि िीनत कब स्थाषपत की गई थी?   

 

1) July 2000  

     जुलाई 2000 

b) March 2002 

    माचथ 2002 

3) March 2004 

   माचथ 2004  

4) January 2004 



     जनवरी 2004 

18)Which of the following industries is not a heavy industry. 

      ननम्नललखित में से कौन सा उद्योर् भारी उद्योर् नहीं है। 
(1) Cotton textile 

      कॉटन टेक्सटाइल   

(2) Cement 

      सीमेंट 

(3) Iron and Steel 

     आयरन एंर् स्टील  

(4) Ship building 

      लशप बबश्ल्रं्र्  

19)The first cotton mill of India was set up in 

      भारत की पहली कॉटन लमल की स्र्ापना 
(1) Ahmedabad 

     अहमदाबाद 

 (2) Kolkata 

      कोलकाता 
(3) Mumbai 

      मुंबई 

(4) Coimbatore 

     कोयंबटूर  

20) The backbone of Indian economy is 

भारतीय अर्थव्यवस्र्ा की रीढ़ है 

1) Industry 

उद्योर् 
2) Agriculture 



कृवि 
3) Export 

ननयाथत 
4) Services 

सेवाएं 

   21) Which of the following is the implementing agency for National Agricultural 

Insurance Scheme? 

             निम्िलिखित में से कौि राष्ट्रीय कृषि बीमा योजिा के लिए कायाडन्वयि एजेंसी है? 

 

1. Food Corporation of India 

    भारतीय िाद्य ननर्म 

2. Commission for Agricultural Costs and Prices 

     कृवि लार्त और मूल्य आयोर् 
3. Agricultural Insurance Company of India Limited  

    कृवि इंश्योरेंस कंपनी ऑफ इंडर्या लललमटेर् 
 

4. NABARD 

  नाबार्थ 

22)Consider the following statements and identify the right ones. 

निम्िलिखित कथिों पर षवचार करें और सही िोगों की पहचाि करें। 
 

i. The NAIS operates on the basis of area approach 

  NAIS क्षेत्र दृश्टटकोण के आिार पर संचाललत होता है 

ii. It covers only the food crops 

इसमें केवल िाद्य फसलों को शालमल ककया र्या है 

1) I only 

  केवल I 
2) ii only 

  केवल II 
3) Both 

  दोनों 
4). None 



  कोई नहीं 

23) Who developed the concept of disguised unemployment? 

(1) John Keynes 

(2) Amartya Sen 

(3) John Robinson 

(4) Alfred Marshall 

24.Government separately formulated industrial policy for small scale industries in india 

लघु उद्योर्ों के ललए अलर् से सरकार ने औद्योधर्क नीनत बनाई। 

1)199o में      

2)1991       

3)1985     

4)1980 

25)When was the National Agricultural Cooperative Marketing Association established? 

  राश्टिय कृवि  सहकारी ववपणन संघ की स्र्ापना कब हुई र्ी? 

1)1965 

2) 1958 

3)1975 

4)1961 
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3)  Both और 2 

दोनों 1 और 2 है। 
4) NONE OF THEM 
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कृवि ववपणन का अंर् नहीं है। 
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कृवि उपज को एककतत्र करना। 
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3) Use of good quality food by the farmers. 
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मौसमी बेरोजर्ारी 

3) Disguise  unemployment. 
भटकाव बेरोजर्ारी। 

4) All of the above  
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        निम्िलिखित में से कौि भारत में गरीबी का सूचक है? 

(1)Income level   



     आय का स्तर 

(2) Illiteracy level 

       अलशक्षा का स्तर 

(3) Employment level 

       रोजर्ार का स्तर 

(4) All of these. 

       ये सभी। 

14. Which one of these is not a cause of poverty in India? 
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      एक अमीर ककसान 
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       व्यवसायी 

16)When did the Government present Kisan Credit Card Scheme? 
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18)Which of the following industries is not a heavy industry. 

      ननम्नललखित में से कौन सा उद्योर् भारी उद्योर् नहीं है। 
(1) Cotton textile 
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(4) Ship building 
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19)The first cotton mill of India was set up in 

      भारत की पहली कॉटन लमल की स्र्ापना 
(1) Ahmedabad 

     अहमदाबाद 

 (2) Kolkata 

      कोलकाता 
(3) Mumbai 

      मुंबई 

(4) Coimbatore 

     कोयंबटूर  

20) The backbone of Indian economy is 

भारतीय अर्थव्यवस्र्ा की रीढ़ है 

1) Industry 

उद्योर् 
2) Agriculture 



कृवि 
3) Export 

ननयाथत 
4) Services 

सेवाएं 

   21) Which of the following is the implementing agency for National Agricultural 

Insurance Scheme? 

             निम्िलिखित में से कौि राष्ट्रीय कृषि बीमा योजिा के लिए कायाडन्वयि एजेंसी है? 

 

1. Food Corporation of India 

    भारतीय िाद्य ननर्म 

2. Commission for Agricultural Costs and Prices 

     कृवि लार्त और मूल्य आयोर् 
3. Agricultural Insurance Company of India Limited  

    कृवि इंश्योरेंस कंपनी ऑफ इंडर्या लललमटेर् 
 

4. NABARD 

  नाबार्थ 

22)Consider the following statements and identify the right ones. 

निम्िलिखित कथिों पर षवचार करें और सही िोगों की पहचाि करें। 
 

i. The NAIS operates on the basis of area approach 

  NAIS क्षेत्र दृश्टटकोण के आिार पर संचाललत होता है 

ii. It covers only the food crops 

इसमें केवल िाद्य फसलों को शालमल ककया र्या है 

1) I only 

  केवल I 
2) ii only 

  केवल II 
3) Both 

  दोनों 
4). None 



  कोई नहीं 

23) Who developed the concept of disguised unemployment? 

(1) John Keynes 

(2) Amartya Sen 

(3) John Robinson 

(4) Alfred Marshall 

24.Government separately formulated industrial policy for small scale industries in india 

लघु उद्योर्ों के ललए अलर् से सरकार ने औद्योधर्क नीनत बनाई। 

1)199o में      

2)1991       

3)1985     

4)1980 

25)When was the National Agricultural Cooperative Marketing Association established? 

  राश्टिय कृवि  सहकारी ववपणन संघ की स्र्ापना कब हुई र्ी? 

1)1965 

2) 1958 

3)1975 

4)1961 

 

 

 

 



 

 

 

 

 

 
 

 
 
 

 



GURU NANAK COLLEGE , DHANBAD  

MID SEMESTER INTERNAL EXAMINATION  

   SEM – VI(AGRICULTURE ECONOMICS) 

SUB  : Economics  (general )                                       TIME:45MIN 

 

CHOOSE THE CORRECT ANSWER  OF THE FOLLOWING: 

 

1.Which sector is the backbone of Indian economy? 

कौन के्षत्रक भारतीय अर्थव्यवस्र्ा की रीढ़ है। 

1) Service Sector  

     संस्र्ा के्षत्रक     

2) Financial Sector  

     ववत्त के्षत्रक 

3) Tourism Sector  
  पयथटन के्षत्रक 

4) Agriculture Sector  
  कृवि के्षत्रक 
2) Regulating body of rural Finance in India 

भारत में ग्रामीण ववत्त की ववननयमन ननकाय 

1) RBI 
भारतीय ररजवथ बैंक 

2) NABARD  
नाबार्थ  

3) RRB  
क्षेत्रीय ग्रामीण बैंक  

4) Cooperative bank  
सहकारी बैंक  



3.Full form of APP  

   APP का फुल फॉमथ  

1) Agricultural price policy  
कृवि मूल्य नीनत 

2) agriculture price program 
कृवि मूल्य कायथक्रम 

3) audio price policy 
ऑडर्यो मूल्य नीनत 

4) all of them 
इनमें से  सभी  

4.Consider the following statement and identify the right 

ननम्नललखित कर्न पर ववचार करें और सही की पहचान करें 

1.The APP aims at providing assured price to the farmers.  

एपीपी का उद्देश्य ककसानों को सुननश्श्चत मूल्य प्रदान करना है। 

  ii) It aims at inducing farmers to bring in their surplus produced to the market.  

इसका उद्देश्य ककसानों को बाजार में उत्पाददत उनके अधिशेि में लाने के ललए पे्रररत करना है। 

1) I only 
केवल I 

2) II only 
केवल II 

3) Both 
दोनों 

4) None of these  

इनमें से कोई नहीं 

5.Agricultural marketing refers to the produce produced by farmers 

कृवि ववपणन से आशय कृिकों द्वारा उत्पाददत उपजकी 

1)  order of objects. 



वस्तुओं के क्रम से है। 
2)  sale of goods. 

वस्तुओं के ववक्रय से है। 
3)  Both और 2 

दोनों 1 और 2 है। 
4) NONE OF THEM 

ककसी से भी नहीं है। 

6. Which of the following tasks is not included under agricultural marketing? 

कृवि ववपणन के अन्तर्थत ननम्नललखित में से कौन – सहकायथ सश्म्मललत नहीं है। 

1) Aggregation of agricultural produce. 
कृवि उपजका एकत्री करण। 

2) Division of agricultural commodities. 
कृवि वस्तुओं का ववभाजन। 

3) The study of agricultural commodities. 
कृवि वस्तुओं का ववद्यायन । 

4) neither of the above. 
उपरोक्त में से कोई नहीं। 

7) The first Government Marketing Committee was established in India? 

भारत में प्रर्म सरकारी ववपणन सलमनत की स्र्ापना हुई र्ी? 

1) In 1913 
1913 में 

2) In 1947 
1947 में 

3) In 1951 
1951में 

4) In 1931 
1931 में 

8.Agriculture is not a part of marketing. 

कृवि ववपणन का अंर् नहीं है। 



1) Integrating agricultural produce. 
कृवि उपज को एककतत्र करना। 

2) Certification of agricultural produce. 
कृवि उपज का प्रमाणीकरण। 

3) Use of good quality food by the farmers. 
अच्छी ककस्म के िाद्यान्नों का कृिकों द्वारा उपयोर्। 

4) To bring agricultural produce to the market. 
कृवि उपज को मण्र्ीतक पहंुचाना। 

9.Disguised unemployed in the agricultural sector of India exists due to the 
___________. 

भारत के कृवि क्षेत्र में प्रच्छन्न बेरोजर्ार ___________ के कारण मौजूद हैं 

1) dependence of agriculture on monsoons 
मानसून पर कृवि की ननभथरता 

2) abolition of zamindari 
जमींदार उन्मूलन 

3) heavy pressure of population on land 
भूलम पर जनसंख्या का भारी दबाव 

4) all of them 
उन सभी को 

10.Which type of unemployment is found India? 

भारत में ककस प्रकार की बेरोजर्ारी पाई जाती है?  

1) structural unemployment 
संरचनात्मक बेरोजर्ारी 

2) seasonal unemployment 
मौसमी बेरोजर्ारी 

3) Disguise  unemployment. 
भटकाव बेरोजर्ारी। 

4) All of the above  
उपरोक्त सभी 



 11)What type of unemployment is found in agriculture sector of India? 

    भारत के कृवि क्षेत्र में ककस प्रकार की बेरोजर्ारी पाई जाती है? 

1) Disguised unemployment. 
प्रच्छन्न बेरोजर्ारी। 

2) Voluntary unemployment  
स्वैश्च्छक बेरोजर्ारी 

3) frictional unemployment 
प्रनतरोिात्मक बेरोजर्ारी 

4) None of the above  
उपरोक्त में से कोई नहीं 

12. What is not a one of the major cause of income inequality in India? 

         
        भारत में आय असमानता का एम प्रमुि कारण क्या नहीं है? 

(1)Unequal distribution of land  

     भूलम का असमान ववतरण 

(2) Lack of fertile land 

       उपजाऊ भूलम का अभाव 

(3)Gap between rich and poor  

      अमीर और र्रीब के बीच र्ैप 

 (4) Increase in population. 

        जनसँख्या वदृ्धि 

13. Which of the following is an indicator of poverty in India? 

          

        निम्िलिखित में से कौि भारत में गरीबी का सूचक है? 

(1)Income level   



     आय का स्तर 

(2) Illiteracy level 

       अलशक्षा का स्तर 

(3) Employment level 

       रोजर्ार का स्तर 

(4) All of these. 

       ये सभी। 

14. Which one of these is not a cause of poverty in India? 

      इिमें से कौि भारत में गरीबी का कारण िहीीं है? 

(1)Low level of economic development 

    आधर्थक ववकास का ननम्न स्तर  

(2) Migration of people from rural to urban India 

       ग्रामीण से शहरी भारत में लोर्ों का प्रवास   

(3) Income inequalities 

       आय असमानता 

(4) Unequal distribution of land. 

       भूलम का असमान ववतरण 

15)Who is considered as poor? 

       गरीब ककस ेमािा जाता है? 

(1)Landlords 

    जमींदारों   



(2) Landless labourer 

      भूलमहीन मजदरू    

(3) A rich farmer 

      एक अमीर ककसान 

(4) Businessman. 

       व्यवसायी 

16)When did the Government present Kisan Credit Card Scheme? 

      सरकार िे ककसाि के्रडिट कािड योजिा कब पेश की? 

 

1) April 1853  

  अपै्रल 1853 

2) August 1998 

     अर्स्त 1998 

3) July 1991 

    जुलाई 1991 

4) November 1995 

    नवंबर 1995 

17)When was the new agricultural policy established? 

      िई कृषि िीनत कब स्थाषपत की गई थी?   

 

1) July 2000  

     जुलाई 2000 

b) March 2002 

    माचथ 2002 

3) March 2004 

   माचथ 2004  

4) January 2004 



     जनवरी 2004 

18)Which of the following industries is not a heavy industry. 

      ननम्नललखित में से कौन सा उद्योर् भारी उद्योर् नहीं है। 
(1) Cotton textile 

      कॉटन टेक्सटाइल   

(2) Cement 

      सीमेंट 

(3) Iron and Steel 

     आयरन एंर् स्टील  

(4) Ship building 

      लशप बबश्ल्रं्र्  

19)The first cotton mill of India was set up in 

      भारत की पहली कॉटन लमल की स्र्ापना 
(1) Ahmedabad 

     अहमदाबाद 

 (2) Kolkata 

      कोलकाता 
(3) Mumbai 

      मुंबई 

(4) Coimbatore 

     कोयंबटूर  

20) The backbone of Indian economy is 

भारतीय अर्थव्यवस्र्ा की रीढ़ है 

1) Industry 

उद्योर् 
2) Agriculture 



कृवि 
3) Export 

ननयाथत 
4) Services 

सेवाएं 

   21) Which of the following is the implementing agency for National Agricultural 

Insurance Scheme? 

             निम्िलिखित में से कौि राष्ट्रीय कृषि बीमा योजिा के लिए कायाडन्वयि एजेंसी है? 

 

1. Food Corporation of India 

    भारतीय िाद्य ननर्म 

2. Commission for Agricultural Costs and Prices 

     कृवि लार्त और मूल्य आयोर् 
3. Agricultural Insurance Company of India Limited  

    कृवि इंश्योरेंस कंपनी ऑफ इंडर्या लललमटेर् 
 

4. NABARD 

  नाबार्थ 

22)Consider the following statements and identify the right ones. 

निम्िलिखित कथिों पर षवचार करें और सही िोगों की पहचाि करें। 
 

i. The NAIS operates on the basis of area approach 

  NAIS क्षेत्र दृश्टटकोण के आिार पर संचाललत होता है 

ii. It covers only the food crops 

इसमें केवल िाद्य फसलों को शालमल ककया र्या है 

1) I only 

  केवल I 
2) ii only 

  केवल II 
3) Both 

  दोनों 
4). None 



  कोई नहीं 

23) Who developed the concept of disguised unemployment? 

(1) John Keynes 

(2) Amartya Sen 

(3) John Robinson 

(4) Alfred Marshall 

24.Government separately formulated industrial policy for small scale industries in india 

लघु उद्योर्ों के ललए अलर् से सरकार ने औद्योधर्क नीनत बनाई। 

1)199o में      

2)1991       

3)1985     

4)1980 

25)When was the National Agricultural Cooperative Marketing Association established? 

  राश्टिय कृवि  सहकारी ववपणन संघ की स्र्ापना कब हुई र्ी? 

1)1965 

2) 1958 

3)1975 

4)1961 

 

 

 

 



 

 

 

 

 

 
 

 
 
 

 



GURU NANAK COLLEGE , DHANBAD  

MID SEMESTER INTERNAL EXAMINATION  

   SEM – VI(AGRICULTURE ECONOMICS) 

SUB  : Economics  (general )                                       TIME:45MIN 

 

CHOOSE THE CORRECT ANSWER  OF THE FOLLOWING: 

 

1.Which sector is the backbone of Indian economy? 

कौन के्षत्रक भारतीय अर्थव्यवस्र्ा की रीढ़ है। 

1) Service Sector  

     संस्र्ा के्षत्रक     

2) Financial Sector  

     ववत्त के्षत्रक 

3) Tourism Sector  
  पयथटन के्षत्रक 

4) Agriculture Sector  
  कृवि के्षत्रक 
2) Regulating body of rural Finance in India 

भारत में ग्रामीण ववत्त की ववननयमन ननकाय 

1) RBI 
भारतीय ररजवथ बैंक 

2) NABARD  
नाबार्थ  

3) RRB  
क्षेत्रीय ग्रामीण बैंक  

4) Cooperative bank  
सहकारी बैंक  



3.Full form of APP  

   APP का फुल फॉमथ  

1) Agricultural price policy  
कृवि मूल्य नीनत 

2) agriculture price program 
कृवि मूल्य कायथक्रम 

3) audio price policy 
ऑडर्यो मूल्य नीनत 

4) all of them 
इनमें से  सभी  

4.Consider the following statement and identify the right 

ननम्नललखित कर्न पर ववचार करें और सही की पहचान करें 

1.The APP aims at providing assured price to the farmers.  

एपीपी का उद्देश्य ककसानों को सुननश्श्चत मूल्य प्रदान करना है। 

  ii) It aims at inducing farmers to bring in their surplus produced to the market.  

इसका उद्देश्य ककसानों को बाजार में उत्पाददत उनके अधिशेि में लाने के ललए पे्रररत करना है। 

1) I only 
केवल I 

2) II only 
केवल II 

3) Both 
दोनों 

4) None of these  

इनमें से कोई नहीं 

5.Agricultural marketing refers to the produce produced by farmers 

कृवि ववपणन से आशय कृिकों द्वारा उत्पाददत उपजकी 

1)  order of objects. 



वस्तुओं के क्रम से है। 
2)  sale of goods. 

वस्तुओं के ववक्रय से है। 
3)  Both और 2 

दोनों 1 और 2 है। 
4) NONE OF THEM 

ककसी से भी नहीं है। 

6. Which of the following tasks is not included under agricultural marketing? 

कृवि ववपणन के अन्तर्थत ननम्नललखित में से कौन – सहकायथ सश्म्मललत नहीं है। 

1) Aggregation of agricultural produce. 
कृवि उपजका एकत्री करण। 

2) Division of agricultural commodities. 
कृवि वस्तुओं का ववभाजन। 

3) The study of agricultural commodities. 
कृवि वस्तुओं का ववद्यायन । 

4) neither of the above. 
उपरोक्त में से कोई नहीं। 

7) The first Government Marketing Committee was established in India? 

भारत में प्रर्म सरकारी ववपणन सलमनत की स्र्ापना हुई र्ी? 

1) In 1913 
1913 में 

2) In 1947 
1947 में 

3) In 1951 
1951में 

4) In 1931 
1931 में 

8.Agriculture is not a part of marketing. 

कृवि ववपणन का अंर् नहीं है। 



1) Integrating agricultural produce. 
कृवि उपज को एककतत्र करना। 

2) Certification of agricultural produce. 
कृवि उपज का प्रमाणीकरण। 

3) Use of good quality food by the farmers. 
अच्छी ककस्म के िाद्यान्नों का कृिकों द्वारा उपयोर्। 

4) To bring agricultural produce to the market. 
कृवि उपज को मण्र्ीतक पहंुचाना। 

9.Disguised unemployed in the agricultural sector of India exists due to the 
___________. 

भारत के कृवि क्षेत्र में प्रच्छन्न बेरोजर्ार ___________ के कारण मौजूद हैं 

1) dependence of agriculture on monsoons 
मानसून पर कृवि की ननभथरता 

2) abolition of zamindari 
जमींदार उन्मूलन 

3) heavy pressure of population on land 
भूलम पर जनसंख्या का भारी दबाव 

4) all of them 
उन सभी को 

10.Which type of unemployment is found India? 

भारत में ककस प्रकार की बेरोजर्ारी पाई जाती है?  

1) structural unemployment 
संरचनात्मक बेरोजर्ारी 

2) seasonal unemployment 
मौसमी बेरोजर्ारी 

3) Disguise  unemployment. 
भटकाव बेरोजर्ारी। 

4) All of the above  
उपरोक्त सभी 



 11)What type of unemployment is found in agriculture sector of India? 

    भारत के कृवि क्षेत्र में ककस प्रकार की बेरोजर्ारी पाई जाती है? 

1) Disguised unemployment. 
प्रच्छन्न बेरोजर्ारी। 

2) Voluntary unemployment  
स्वैश्च्छक बेरोजर्ारी 

3) frictional unemployment 
प्रनतरोिात्मक बेरोजर्ारी 

4) None of the above  
उपरोक्त में से कोई नहीं 

12. What is not a one of the major cause of income inequality in India? 

         
        भारत में आय असमानता का एम प्रमुि कारण क्या नहीं है? 

(1)Unequal distribution of land  

     भूलम का असमान ववतरण 

(2) Lack of fertile land 

       उपजाऊ भूलम का अभाव 

(3)Gap between rich and poor  

      अमीर और र्रीब के बीच र्ैप 

 (4) Increase in population. 

        जनसँख्या वदृ्धि 

13. Which of the following is an indicator of poverty in India? 

          

        निम्िलिखित में से कौि भारत में गरीबी का सूचक है? 

(1)Income level   



     आय का स्तर 

(2) Illiteracy level 

       अलशक्षा का स्तर 

(3) Employment level 

       रोजर्ार का स्तर 

(4) All of these. 

       ये सभी। 

14. Which one of these is not a cause of poverty in India? 

      इिमें से कौि भारत में गरीबी का कारण िहीीं है? 

(1)Low level of economic development 

    आधर्थक ववकास का ननम्न स्तर  

(2) Migration of people from rural to urban India 

       ग्रामीण से शहरी भारत में लोर्ों का प्रवास   

(3) Income inequalities 

       आय असमानता 

(4) Unequal distribution of land. 

       भूलम का असमान ववतरण 

15)Who is considered as poor? 

       गरीब ककस ेमािा जाता है? 

(1)Landlords 

    जमींदारों   



(2) Landless labourer 

      भूलमहीन मजदरू    

(3) A rich farmer 

      एक अमीर ककसान 

(4) Businessman. 

       व्यवसायी 

16)When did the Government present Kisan Credit Card Scheme? 

      सरकार िे ककसाि के्रडिट कािड योजिा कब पेश की? 

 

1) April 1853  

  अपै्रल 1853 

2) August 1998 

     अर्स्त 1998 

3) July 1991 

    जुलाई 1991 

4) November 1995 

    नवंबर 1995 

17)When was the new agricultural policy established? 

      िई कृषि िीनत कब स्थाषपत की गई थी?   

 

1) July 2000  

     जुलाई 2000 

b) March 2002 

    माचथ 2002 

3) March 2004 

   माचथ 2004  

4) January 2004 



     जनवरी 2004 

18)Which of the following industries is not a heavy industry. 

      ननम्नललखित में से कौन सा उद्योर् भारी उद्योर् नहीं है। 
(1) Cotton textile 

      कॉटन टेक्सटाइल   

(2) Cement 

      सीमेंट 

(3) Iron and Steel 

     आयरन एंर् स्टील  

(4) Ship building 

      लशप बबश्ल्रं्र्  

19)The first cotton mill of India was set up in 

      भारत की पहली कॉटन लमल की स्र्ापना 
(1) Ahmedabad 

     अहमदाबाद 

 (2) Kolkata 

      कोलकाता 
(3) Mumbai 

      मुंबई 

(4) Coimbatore 

     कोयंबटूर  

20) The backbone of Indian economy is 

भारतीय अर्थव्यवस्र्ा की रीढ़ है 

1) Industry 

उद्योर् 
2) Agriculture 



कृवि 
3) Export 

ननयाथत 
4) Services 

सेवाएं 

   21) Which of the following is the implementing agency for National Agricultural 

Insurance Scheme? 

             निम्िलिखित में से कौि राष्ट्रीय कृषि बीमा योजिा के लिए कायाडन्वयि एजेंसी है? 

 

1. Food Corporation of India 

    भारतीय िाद्य ननर्म 

2. Commission for Agricultural Costs and Prices 

     कृवि लार्त और मूल्य आयोर् 
3. Agricultural Insurance Company of India Limited  

    कृवि इंश्योरेंस कंपनी ऑफ इंडर्या लललमटेर् 
 

4. NABARD 

  नाबार्थ 

22)Consider the following statements and identify the right ones. 

निम्िलिखित कथिों पर षवचार करें और सही िोगों की पहचाि करें। 
 

i. The NAIS operates on the basis of area approach 

  NAIS क्षेत्र दृश्टटकोण के आिार पर संचाललत होता है 

ii. It covers only the food crops 

इसमें केवल िाद्य फसलों को शालमल ककया र्या है 

1) I only 

  केवल I 
2) ii only 

  केवल II 
3) Both 

  दोनों 
4). None 



  कोई नहीं 

23) Who developed the concept of disguised unemployment? 

(1) John Keynes 

(2) Amartya Sen 

(3) John Robinson 

(4) Alfred Marshall 

24.Government separately formulated industrial policy for small scale industries in india 

लघु उद्योर्ों के ललए अलर् से सरकार ने औद्योधर्क नीनत बनाई। 

1)199o में      

2)1991       

3)1985     

4)1980 

25)When was the National Agricultural Cooperative Marketing Association established? 

  राश्टिय कृवि  सहकारी ववपणन संघ की स्र्ापना कब हुई र्ी? 

1)1965 

2) 1958 

3)1975 

4)1961 

 

 

 

 



 

 

 

 

 

 
 

 
 
 

 



GURU NANAK COLLEGE , DHANBAD  

MID SEMESTER INTERNAL EXAMINATION  

   SEM – VI(AGRICULTURE ECONOMICS) 

SUB  : Economics  (general )                                       TIME:45MIN 

 

CHOOSE THE CORRECT ANSWER  OF THE FOLLOWING: 

 

1.Which sector is the backbone of Indian economy? 

कौन के्षत्रक भारतीय अर्थव्यवस्र्ा की रीढ़ है। 

1) Service Sector  

     संस्र्ा के्षत्रक     

2) Financial Sector  

     ववत्त के्षत्रक 

3) Tourism Sector  
  पयथटन के्षत्रक 

4) Agriculture Sector  
  कृवि के्षत्रक 
2) Regulating body of rural Finance in India 

भारत में ग्रामीण ववत्त की ववननयमन ननकाय 

1) RBI 
भारतीय ररजवथ बैंक 

2) NABARD  
नाबार्थ  

3) RRB  
क्षेत्रीय ग्रामीण बैंक  

4) Cooperative bank  
सहकारी बैंक  



3.Full form of APP  

   APP का फुल फॉमथ  

1) Agricultural price policy  
कृवि मूल्य नीनत 

2) agriculture price program 
कृवि मूल्य कायथक्रम 

3) audio price policy 
ऑडर्यो मूल्य नीनत 

4) all of them 
इनमें से  सभी  

4.Consider the following statement and identify the right 

ननम्नललखित कर्न पर ववचार करें और सही की पहचान करें 

1.The APP aims at providing assured price to the farmers.  

एपीपी का उद्देश्य ककसानों को सुननश्श्चत मूल्य प्रदान करना है। 

  ii) It aims at inducing farmers to bring in their surplus produced to the market.  

इसका उद्देश्य ककसानों को बाजार में उत्पाददत उनके अधिशेि में लाने के ललए पे्रररत करना है। 

1) I only 
केवल I 

2) II only 
केवल II 

3) Both 
दोनों 

4) None of these  

इनमें से कोई नहीं 

5.Agricultural marketing refers to the produce produced by farmers 

कृवि ववपणन से आशय कृिकों द्वारा उत्पाददत उपजकी 

1)  order of objects. 



वस्तुओं के क्रम से है। 
2)  sale of goods. 

वस्तुओं के ववक्रय से है। 
3)  Both और 2 

दोनों 1 और 2 है। 
4) NONE OF THEM 

ककसी से भी नहीं है। 

6. Which of the following tasks is not included under agricultural marketing? 

कृवि ववपणन के अन्तर्थत ननम्नललखित में से कौन – सहकायथ सश्म्मललत नहीं है। 

1) Aggregation of agricultural produce. 
कृवि उपजका एकत्री करण। 

2) Division of agricultural commodities. 
कृवि वस्तुओं का ववभाजन। 

3) The study of agricultural commodities. 
कृवि वस्तुओं का ववद्यायन । 

4) neither of the above. 
उपरोक्त में से कोई नहीं। 

7) The first Government Marketing Committee was established in India? 

भारत में प्रर्म सरकारी ववपणन सलमनत की स्र्ापना हुई र्ी? 

1) In 1913 
1913 में 

2) In 1947 
1947 में 

3) In 1951 
1951में 

4) In 1931 
1931 में 

8.Agriculture is not a part of marketing. 

कृवि ववपणन का अंर् नहीं है। 



1) Integrating agricultural produce. 
कृवि उपज को एककतत्र करना। 

2) Certification of agricultural produce. 
कृवि उपज का प्रमाणीकरण। 

3) Use of good quality food by the farmers. 
अच्छी ककस्म के िाद्यान्नों का कृिकों द्वारा उपयोर्। 

4) To bring agricultural produce to the market. 
कृवि उपज को मण्र्ीतक पहंुचाना। 

9.Disguised unemployed in the agricultural sector of India exists due to the 
___________. 

भारत के कृवि क्षेत्र में प्रच्छन्न बेरोजर्ार ___________ के कारण मौजूद हैं 

1) dependence of agriculture on monsoons 
मानसून पर कृवि की ननभथरता 

2) abolition of zamindari 
जमींदार उन्मूलन 

3) heavy pressure of population on land 
भूलम पर जनसंख्या का भारी दबाव 

4) all of them 
उन सभी को 

10.Which type of unemployment is found India? 

भारत में ककस प्रकार की बेरोजर्ारी पाई जाती है?  

1) structural unemployment 
संरचनात्मक बेरोजर्ारी 

2) seasonal unemployment 
मौसमी बेरोजर्ारी 

3) Disguise  unemployment. 
भटकाव बेरोजर्ारी। 

4) All of the above  
उपरोक्त सभी 



 11)What type of unemployment is found in agriculture sector of India? 

    भारत के कृवि क्षेत्र में ककस प्रकार की बेरोजर्ारी पाई जाती है? 

1) Disguised unemployment. 
प्रच्छन्न बेरोजर्ारी। 

2) Voluntary unemployment  
स्वैश्च्छक बेरोजर्ारी 

3) frictional unemployment 
प्रनतरोिात्मक बेरोजर्ारी 

4) None of the above  
उपरोक्त में से कोई नहीं 

12. What is not a one of the major cause of income inequality in India? 

         
        भारत में आय असमानता का एम प्रमुि कारण क्या नहीं है? 

(1)Unequal distribution of land  

     भूलम का असमान ववतरण 

(2) Lack of fertile land 

       उपजाऊ भूलम का अभाव 

(3)Gap between rich and poor  

      अमीर और र्रीब के बीच र्ैप 

 (4) Increase in population. 

        जनसँख्या वदृ्धि 

13. Which of the following is an indicator of poverty in India? 

          

        निम्िलिखित में से कौि भारत में गरीबी का सूचक है? 

(1)Income level   



     आय का स्तर 

(2) Illiteracy level 

       अलशक्षा का स्तर 

(3) Employment level 

       रोजर्ार का स्तर 

(4) All of these. 

       ये सभी। 

14. Which one of these is not a cause of poverty in India? 

      इिमें से कौि भारत में गरीबी का कारण िहीीं है? 

(1)Low level of economic development 

    आधर्थक ववकास का ननम्न स्तर  

(2) Migration of people from rural to urban India 

       ग्रामीण से शहरी भारत में लोर्ों का प्रवास   

(3) Income inequalities 

       आय असमानता 

(4) Unequal distribution of land. 

       भूलम का असमान ववतरण 

15)Who is considered as poor? 

       गरीब ककस ेमािा जाता है? 

(1)Landlords 

    जमींदारों   



(2) Landless labourer 

      भूलमहीन मजदरू    

(3) A rich farmer 

      एक अमीर ककसान 

(4) Businessman. 

       व्यवसायी 

16)When did the Government present Kisan Credit Card Scheme? 

      सरकार िे ककसाि के्रडिट कािड योजिा कब पेश की? 

 

1) April 1853  

  अपै्रल 1853 

2) August 1998 

     अर्स्त 1998 

3) July 1991 

    जुलाई 1991 

4) November 1995 

    नवंबर 1995 

17)When was the new agricultural policy established? 

      िई कृषि िीनत कब स्थाषपत की गई थी?   

 

1) July 2000  

     जुलाई 2000 

b) March 2002 

    माचथ 2002 

3) March 2004 

   माचथ 2004  

4) January 2004 



     जनवरी 2004 

18)Which of the following industries is not a heavy industry. 

      ननम्नललखित में से कौन सा उद्योर् भारी उद्योर् नहीं है। 
(1) Cotton textile 

      कॉटन टेक्सटाइल   

(2) Cement 

      सीमेंट 

(3) Iron and Steel 

     आयरन एंर् स्टील  

(4) Ship building 

      लशप बबश्ल्रं्र्  

19)The first cotton mill of India was set up in 

      भारत की पहली कॉटन लमल की स्र्ापना 
(1) Ahmedabad 

     अहमदाबाद 

 (2) Kolkata 

      कोलकाता 
(3) Mumbai 

      मुंबई 

(4) Coimbatore 

     कोयंबटूर  

20) The backbone of Indian economy is 

भारतीय अर्थव्यवस्र्ा की रीढ़ है 

1) Industry 

उद्योर् 
2) Agriculture 



कृवि 
3) Export 

ननयाथत 
4) Services 

सेवाएं 

   21) Which of the following is the implementing agency for National Agricultural 

Insurance Scheme? 

             निम्िलिखित में से कौि राष्ट्रीय कृषि बीमा योजिा के लिए कायाडन्वयि एजेंसी है? 

 

1. Food Corporation of India 

    भारतीय िाद्य ननर्म 

2. Commission for Agricultural Costs and Prices 

     कृवि लार्त और मूल्य आयोर् 
3. Agricultural Insurance Company of India Limited  

    कृवि इंश्योरेंस कंपनी ऑफ इंडर्या लललमटेर् 
 

4. NABARD 

  नाबार्थ 

22)Consider the following statements and identify the right ones. 

निम्िलिखित कथिों पर षवचार करें और सही िोगों की पहचाि करें। 
 

i. The NAIS operates on the basis of area approach 

  NAIS क्षेत्र दृश्टटकोण के आिार पर संचाललत होता है 

ii. It covers only the food crops 

इसमें केवल िाद्य फसलों को शालमल ककया र्या है 

1) I only 

  केवल I 
2) ii only 

  केवल II 
3) Both 

  दोनों 
4). None 



  कोई नहीं 

23) Who developed the concept of disguised unemployment? 

(1) John Keynes 

(2) Amartya Sen 

(3) John Robinson 

(4) Alfred Marshall 

24.Government separately formulated industrial policy for small scale industries in india 

लघु उद्योर्ों के ललए अलर् से सरकार ने औद्योधर्क नीनत बनाई। 

1)199o में      

2)1991       

3)1985     

4)1980 

25)When was the National Agricultural Cooperative Marketing Association established? 

  राश्टिय कृवि  सहकारी ववपणन संघ की स्र्ापना कब हुई र्ी? 

1)1965 

2) 1958 

3)1975 

4)1961 

 

 

 

 



 

 

 

 

 

 
 

 
 
 

 



GURU NANAK COLLEGE , DHANBAD  

MID SEMESTER INTERNAL EXAMINATION  

   SEM – VI(AGRICULTURE ECONOMICS) 

SUB  : Economics  (general )                                       TIME:45MIN 

 

CHOOSE THE CORRECT ANSWER  OF THE FOLLOWING: 

 

1.Which sector is the backbone of Indian economy? 

कौन के्षत्रक भारतीय अर्थव्यवस्र्ा की रीढ़ है। 

1) Service Sector  

     संस्र्ा के्षत्रक     

2) Financial Sector  

     ववत्त के्षत्रक 

3) Tourism Sector  
  पयथटन के्षत्रक 

4) Agriculture Sector  
  कृवि के्षत्रक 
2) Regulating body of rural Finance in India 

भारत में ग्रामीण ववत्त की ववननयमन ननकाय 

1) RBI 
भारतीय ररजवथ बैंक 

2) NABARD  
नाबार्थ  

3) RRB  
क्षेत्रीय ग्रामीण बैंक  

4) Cooperative bank  
सहकारी बैंक  

Roll:-623
Suraj kumar



3.Full form of APP  

   APP का फुल फॉमथ  

1) Agricultural price policy  
कृवि मूल्य नीनत 

2) agriculture price program 
कृवि मूल्य कायथक्रम 

3) audio price policy 
ऑडर्यो मूल्य नीनत 

4) all of them 
इनमें से  सभी  

4.Consider the following statement and identify the right 

ननम्नललखित कर्न पर ववचार करें और सही की पहचान करें 

1.The APP aims at providing assured price to the farmers.  

एपीपी का उद्देश्य ककसानों को सुननश्श्चत मूल्य प्रदान करना है। 

  ii) It aims at inducing farmers to bring in their surplus produced to the market.  

इसका उद्देश्य ककसानों को बाजार में उत्पाददत उनके अधिशेि में लाने के ललए पे्रररत करना है। 

1) I only 
केवल I 

2) II only 
केवल II 

3) Both 
दोनों 

4) None of these  

इनमें से कोई नहीं 

5.Agricultural marketing refers to the produce produced by farmers 

कृवि ववपणन से आशय कृिकों द्वारा उत्पाददत उपजकी 

1)  order of objects. 



वस्तुओं के क्रम से है। 
2)  sale of goods. 

वस्तुओं के ववक्रय से है। 
3)  Both और 2 

दोनों 1 और 2 है। 
4) NONE OF THEM 

ककसी से भी नहीं है। 

6. Which of the following tasks is not included under agricultural marketing? 

कृवि ववपणन के अन्तर्थत ननम्नललखित में से कौन – सहकायथ सश्म्मललत नहीं है। 

1) Aggregation of agricultural produce. 
कृवि उपजका एकत्री करण। 

2) Division of agricultural commodities. 
कृवि वस्तुओं का ववभाजन। 

3) The study of agricultural commodities. 
कृवि वस्तुओं का ववद्यायन । 

4) neither of the above. 
उपरोक्त में से कोई नहीं। 

7) The first Government Marketing Committee was established in India? 

भारत में प्रर्म सरकारी ववपणन सलमनत की स्र्ापना हुई र्ी? 

1) In 1913 
1913 में 

2) In 1947 
1947 में 

3) In 1951 
1951में 

4) In 1931 
1931 में 

8.Agriculture is not a part of marketing. 

कृवि ववपणन का अंर् नहीं है। 



1) Integrating agricultural produce. 
कृवि उपज को एककतत्र करना। 

2) Certification of agricultural produce. 
कृवि उपज का प्रमाणीकरण। 

3) Use of good quality food by the farmers. 
अच्छी ककस्म के िाद्यान्नों का कृिकों द्वारा उपयोर्। 

4) To bring agricultural produce to the market. 
कृवि उपज को मण्र्ीतक पहंुचाना। 

9.Disguised unemployed in the agricultural sector of India exists due to the 
___________. 

भारत के कृवि क्षेत्र में प्रच्छन्न बेरोजर्ार ___________ के कारण मौजूद हैं 

1) dependence of agriculture on monsoons 
मानसून पर कृवि की ननभथरता 

2) abolition of zamindari 
जमींदार उन्मूलन 

3) heavy pressure of population on land 
भूलम पर जनसंख्या का भारी दबाव 

4) all of them 
उन सभी को 

10.Which type of unemployment is found India? 

भारत में ककस प्रकार की बेरोजर्ारी पाई जाती है?  

1) structural unemployment 
संरचनात्मक बेरोजर्ारी 

2) seasonal unemployment 
मौसमी बेरोजर्ारी 

3) Disguise  unemployment. 
भटकाव बेरोजर्ारी। 

4) All of the above  
उपरोक्त सभी 



 11)What type of unemployment is found in agriculture sector of India? 

    भारत के कृवि क्षेत्र में ककस प्रकार की बेरोजर्ारी पाई जाती है? 

1) Disguised unemployment. 
प्रच्छन्न बेरोजर्ारी। 

2) Voluntary unemployment  
स्वैश्च्छक बेरोजर्ारी 

3) frictional unemployment 
प्रनतरोिात्मक बेरोजर्ारी 

4) None of the above  
उपरोक्त में से कोई नहीं 

12. What is not a one of the major cause of income inequality in India? 

         
        भारत में आय असमानता का एम प्रमुि कारण क्या नहीं है? 

(1)Unequal distribution of land  

     भूलम का असमान ववतरण 

(2) Lack of fertile land 

       उपजाऊ भूलम का अभाव 

(3)Gap between rich and poor  

      अमीर और र्रीब के बीच र्ैप 

 (4) Increase in population. 

        जनसँख्या वदृ्धि 

13. Which of the following is an indicator of poverty in India? 

          

        निम्िलिखित में से कौि भारत में गरीबी का सूचक है? 

(1)Income level   



     आय का स्तर 

(2) Illiteracy level 

       अलशक्षा का स्तर 

(3) Employment level 

       रोजर्ार का स्तर 

(4) All of these. 

       ये सभी। 

14. Which one of these is not a cause of poverty in India? 

      इिमें से कौि भारत में गरीबी का कारण िहीीं है? 

(1)Low level of economic development 

    आधर्थक ववकास का ननम्न स्तर  

(2) Migration of people from rural to urban India 

       ग्रामीण से शहरी भारत में लोर्ों का प्रवास   

(3) Income inequalities 

       आय असमानता 

(4) Unequal distribution of land. 

       भूलम का असमान ववतरण 

15)Who is considered as poor? 

       गरीब ककस ेमािा जाता है? 

(1)Landlords 

    जमींदारों   



(2) Landless labourer 

      भूलमहीन मजदरू    

(3) A rich farmer 

      एक अमीर ककसान 

(4) Businessman. 

       व्यवसायी 

16)When did the Government present Kisan Credit Card Scheme? 

      सरकार िे ककसाि के्रडिट कािड योजिा कब पेश की? 

 

1) April 1853  

  अपै्रल 1853 

2) August 1998 

     अर्स्त 1998 

3) July 1991 

    जुलाई 1991 

4) November 1995 

    नवंबर 1995 

17)When was the new agricultural policy established? 

      िई कृषि िीनत कब स्थाषपत की गई थी?   

 

1) July 2000  

     जुलाई 2000 

b) March 2002 

    माचथ 2002 

3) March 2004 

   माचथ 2004  

4) January 2004 



     जनवरी 2004 

18)Which of the following industries is not a heavy industry. 

      ननम्नललखित में से कौन सा उद्योर् भारी उद्योर् नहीं है। 
(1) Cotton textile 

      कॉटन टेक्सटाइल   

(2) Cement 

      सीमेंट 

(3) Iron and Steel 

     आयरन एंर् स्टील  

(4) Ship building 

      लशप बबश्ल्रं्र्  

19)The first cotton mill of India was set up in 

      भारत की पहली कॉटन लमल की स्र्ापना 
(1) Ahmedabad 

     अहमदाबाद 

 (2) Kolkata 

      कोलकाता 
(3) Mumbai 

      मुंबई 

(4) Coimbatore 

     कोयंबटूर  

20) The backbone of Indian economy is 

भारतीय अर्थव्यवस्र्ा की रीढ़ है 

1) Industry 

उद्योर् 
2) Agriculture 



कृवि 
3) Export 

ननयाथत 
4) Services 

सेवाएं 

   21) Which of the following is the implementing agency for National Agricultural 

Insurance Scheme? 

             निम्िलिखित में से कौि राष्ट्रीय कृषि बीमा योजिा के लिए कायाडन्वयि एजेंसी है? 

 

1. Food Corporation of India 

    भारतीय िाद्य ननर्म 

2. Commission for Agricultural Costs and Prices 

     कृवि लार्त और मूल्य आयोर् 
3. Agricultural Insurance Company of India Limited  

    कृवि इंश्योरेंस कंपनी ऑफ इंडर्या लललमटेर् 
 

4. NABARD 

  नाबार्थ 

22)Consider the following statements and identify the right ones. 

निम्िलिखित कथिों पर षवचार करें और सही िोगों की पहचाि करें। 
 

i. The NAIS operates on the basis of area approach 

  NAIS क्षेत्र दृश्टटकोण के आिार पर संचाललत होता है 

ii. It covers only the food crops 

इसमें केवल िाद्य फसलों को शालमल ककया र्या है 

1) I only 

  केवल I 
2) ii only 

  केवल II 
3) Both 

  दोनों 
4). None 



  कोई नहीं 

23) Who developed the concept of disguised unemployment? 

(1) John Keynes 

(2) Amartya Sen 

(3) John Robinson 

(4) Alfred Marshall 

24.Government separately formulated industrial policy for small scale industries in india 

लघु उद्योर्ों के ललए अलर् से सरकार ने औद्योधर्क नीनत बनाई। 

1)199o में      

2)1991       

3)1985     

4)1980 

25)When was the National Agricultural Cooperative Marketing Association established? 

  राश्टिय कृवि  सहकारी ववपणन संघ की स्र्ापना कब हुई र्ी? 

1)1965 

2) 1958 

3)1975 

4)1961 

 

 

 

 



 

 

 

 

 

 
 

 
 
 

 


